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REM-WAPPING-TORSION---
READ M
DIM T(M),YI(M),ZI(M),YK(M),2ZK(M),B{M),F(M)
DIM WI{M),WK{M),WTI(M),WTK(M)
FOR I=1 TO M
READ T(1),YI(I),ZI(I),YK(I),ZK(L)
NEXT T
FOR I=1 TO M
READ WI{(I),WK(I)
NEXT I
FOR I=1 TO M
B(I)=SQR({YK(I)~YI{I)) 2+{ZK(1)-ZI(1))"2)
F(I)=T{(L)}*B(1)
NEXT I
F=0:FY=0:F2=0:FW=0:FYZ=0:FYY=0:FZZ=0:FYW=0:FZW=0:FWW=0
FOR I=1 TO M
F=F+F(I)
FY=FY+(YI(I)+YK(L))*F(1)/2
FZ=FZ+(ZI(I)+ZK(I))*F(1)/2
FW=FW+{WL{I)+WK(I))*F(1)/2
FYZ=FYZ+( (YI(T)*ZT{T)+YR(I)*ZK(1))/3+(YI(L)*ZK(I)+YK(I)*ZI(1))/6)*F(T)
FYY=FYV+(YI(T) "24YT(1)*VYK(I)+YK(I) 2)*F(1)/3
/
FYW=FYW+ ( (YI(TI)*WI(I)+YK(I)*WK(TI))}/3+(YI(T)
FZW=FZW+( (ZI (I Y*WT(1)+ZK{T)*WK(1))/3+(ZI(1)*WK{T)+ZK(I)*¥W1(1)
FWW=FWW+(WI(T) " 2+WI {1 )*WK{T)+WK(TI) 2)*F(I1)/

AWK () +YK(I)*WI(1))/8)*F(1)
)/6)}*F(1)

NEXT I

FOR I=1 TO M

LPRINT USING"##.####4°°°°";T(1),YI(1),ZI(I),YK(I),ZK(I),B(I),F(I):LPRINT
LPRINT USING"##.##### """ "";WI(I),WK(I):LPRINT

NEXT I

LPRINT

LPRINT USTNG"##.###$4 """, F,FY,FZ,FYZ,FYY,FZZ:LPRINT

LPRINT USING"##.####4 """ ;FW,FYW,FZW,FWW:LPRINT

LPRINT

YO=FY/F:Z0=FZ/F:WO=FW/F

FYZ=FYZ-FYXFZ/F:FYY=FYY-FY"2/F :FZZ=FZZ-FZ"2/F
FYW=FYW-FY*FW/F: FZW=FZW-FZ¥FW/F: FWW=FWW-FW"2/F

LPRINT USING"##.###%4#°°""",Y0,20,FYZ,FYY,FZZ: LPRINT
LPRINT USING"##.####4°"""";W0,FYW,FZW, FWW: LPRINT

LPRINT :LPRINT

YT=(FZWkFYY-FYWXFYZ)/(FYY*¥FZZ-FYZ"2)

ZT=(-FYWKFZZ+FZW*FYZ)/(FYY*FZZ-FYZ"2)

FOR I=1 TO M

WTI(I)=(WI(L)-WO)+ZT*(YI(I)-Y0)-YT*(ZI(I)-Z0)

WIK(1)=(WK(I1)-WO)+ZT*(YK(I)-Y0O)=-YT*(ZK(1)}~-Z0)

NEXT 1

FOR I=1 TO M

LPRINT USING"##.##### """ "";WTI(I),WTK(I):LPRINT

NEXT I

FWWT1=0

FOR I=1 TO M
FWWT1=FWWT1+(WTI(T) " 2+WTI{1)}*WTK(I}+WTK(I)"2)*F(1)/3

NEXT I

FWWT2=FWW+ZT*FYW-YT*FZW

LPRINT USING"##.####4~"""";YT,ZT,FWWTL,FWWT2:LPRINT

LPRINT :LPRINT

FOR I=1 TO M

YSI(I)=YY(I)~YO:YSK(I)=YK(I)-Y0:ZST(I1)=ZI(I)-Z0:2Z8K(I)=2ZK(I)~20

RZ(T)=((YSI(I)+YSK(I))*(3*YSI(T) 2+2%ZSI(I)*ZSK(I)+3*¥YSK(T)"2)+ZSI(T)"2
#(3*%YSI(T)+YSK(T))+ZSK(I) 2% (YSI(I)+3*YSK(I)))*F(I1)/12

RY(I)=({(ZSI(T)+ZSK(I))*(3%ZST(L) "2+42%¥YST(I)*YSK(I)+3*ZSK(I)"2)+YSI(1)"2
*(3*ZST(T)+ZSK(I))+YSK(T) 2% (ZSI(I)+3%ZSK(I)))}*F(I)/12

NEXT I

FOR I=1 TO M

LPRINT USING"##.##### """ ";YST(I),ZSI(I),YSK(I},ZSK(I):LPRINT

NEXT I

LPRINT :LPRINT

RY=0:RZ=0

FOR I=1 TO M

RY=RY+RY(I):RZ=RZ+RZ(I)

NEXT I

RY=RY/FZZ:RZ=RZ/FYY

LPRINT USING"##.##44#°"""";RY,RZ:LPRINT

LPRINT :LPRINT

END
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